
V E S A C om patib le
20 0 x 20 0 3 0 0 x 20 0 
4 0 0 x 20 0 3 0 0 x 30 0 
4 0 0 x 30 0 4 0 0 x 4 0 0 

6 0 0 x 4 0 0 50 kg /110 lb s

T V
R AT E D

5kg /11lb s

DV D
R AT E D

F L AT/C UR V E D

75" 
MA X

Trolley TV Stand with Power Strip for TV's up to 75" / 50kg / 
max. VESA 600x400  Ergo Office ER-304 B
Stand / wózek dla TV do 75" / 50kg / max. VESA 600x400 z wbudowaną listwą zasilającą 
Ergo Office ER-304 B

TV-Trolley mit Steckdosenleiste für Fernseher bis 75" / 50 kg / max. VESA 600x400 Ergo 
Office ER-304 B

Chariot pour TV avec multiprise pour téléviseurs jusqu'à 75" / 50 kg / VESA max. 600x400 
Ergo Office ER-304 B
Soporte TV tipo carro con regleta de enchufes para televisores hasta 75" / 50 kg / VESA 
máx. 600x400 Ergo Office ER-304 B

Carrello per TV con ciabatta per televisori fino a 75" / 50 kg / VESA max. 600x400 Ergo 
Office ER-304 B

TV stojan na kolečkách s napájecí lištou pro televize až do 75" / 50 kg / max. VESA 600x400 
Ergo Office ER-304 B

Suport TV pe roți cu priza pentru televizoare de până la 75" / 50 kg / VESA max. 600x400 
Ergo Office ER-304 B

TV trolley met stekkerdoos voor tv's tot 75" / 50 kg / max. VESA 600x400 Ergo Office 
ER-304 B

ER-304 B

Wenn Sie alle Anweisungen nicht lesen, nicht genau lesen, nicht verstehen und nicht 
befolgen, kann dies zu schweren Verletzungen, Schäden an der Ausrüstung oder zum 
Erlöschen der Herstellergarantie führen.

Anweisungen und Sicherheitsaspekte
1. Stellen Sie sicher, dass die Montagefläche die dafür vorgesehenen Geräte trägt.
2. Überschreiten Sie nicht die empfohlene Belastung
3. Für den Innenbereich bestimmt
4. Verwenden Sie nur das Zubehör, das im Lieferumfang des Produkts enthalten ist
5. Jegliche Änderung oder Modifikation des Produkts ist verboten
6. Das Produkt enthält Kleinteile, die von kleinen Kindern verschluckt werden können, 
     Gebrauchsanweisung wie vorgesehen

DE

Le fait de ne pas lire, de lire avec précision, de comprendre et de suivre toutes les 
instructions peut entraîner des blessures graves, endommager l'équipement ou annuler 
la garantie du fabricant.

Instructions et aspects de sécurité
1. Assurez-vous que la surface de montage supporte l'équipement qui lui est fourni.
2. Ne pas dépasser la charge recommandée
3. Destiné à une utilisation en intérieur
4. N'utilisez que les accessoires fournis avec le produit
5. Tout changement ou modification du produit est interdit
6. Le produit contient de petites pièces qui peuvent être avalées par de jeunes enfants, 
    des instructions d'utilisation comme prévu

FR

La falta de lectura, lectura precisa, comprensión y seguimiento de todas las instrucciones 
puede resultar en lesiones graves, daños al equipo o anular la garantía del fabricante.

Instrucciones y aspectos de seguridad
1. Asegúrese de que la superficie de montaje soporte el equipo proporcionado.
2. No exceda la carga recomendada
3. Diseñado para uso en interiores
4. Utilice únicamente los accesorios suministrados con el producto
5. Queda prohibida cualquier modificación o modificación del producto
6. El producto contiene piezas pequeñas que pueden ser tragadas por niños pequeños, 
    instrucciones de uso según lo previsto

ES

Nieprzeczytanie, dokładne, niezrozumienie i nieprzestrzeganie wszystkich instrukcji może 
skutkować poważnymi obrażeniami, uszkodzeniem sprzętu lub utratą gwarancji 
producenta.

Instrukcja oraz kwestia bezpieczeństwa
• Upewnij się, że powierzchnia do montowania utrzyma dedykowany sprzęt do tego 
    przeznaczony.
• Nie przekraczaj sugerowanego obciążenia
• Produkt przeznaczony do użytku wewnętrznego
• Używaj tylko akcesoriów, które zostały dołączone do produktu
• Wszelkie zmiany lub modyfikacje w produkcie są zabronione
• Produkt zawiera małe elementy, które są możliwe do połknęcia przez małe dzieci, 
    Należy używać instukcje zgodnie z przeznaczeniem

PL

La mancata lettura, lettura accurata, comprensione e osservanza di tutte le istruzioni può 
causare lesioni gravi, danni alle apparecchiature o invalidare la garanzia del produttore.

Istruzioni e aspetti di sicurezza
1. Assicurarsi che la superficie di montaggio supporti l'attrezzatura fornita.
2. Non superare il carico consigliato
3. Destinato all'uso interno
4. Utilizzare solo gli accessori forniti con il prodotto
5. È vietata qualsiasi modifica o modifica al prodotto
6. Il prodotto contiene piccole parti che possono essere ingerite dai bambini piccoli, istruzioni 
     per l'uso come previsto

IT

Het niet lezen, nauwkeurig lezen, begrijpen en opvolgen van alle instructies kan leiden tot 
ernstig letsel, schade aan apparatuur of het ongeldig maken van de fabrieksgarantie.

Veiligheidsinstructies en -aspecten
1. Zorg ervoor dat het montageoppervlak de meegeleverde apparatuur ondersteunt.
2. De aanbevolen belasting niet overschrijden
3. Ontworpen voor gebruik binnenshuis
4. Gebruik alleen de accessoires die bij het product zijn geleverd
5. Elke wijziging of aanpassing van het product is verboden
6. Het product bevat kleine onderdelen die door jonge kinderen kunnen worden ingeslikt, 
     gebruiksaanwijzing zoals bedoeld

NL

Pokud nebudete číst, číst přesně, nebudete rozumět a nebudete dodržovat všechny pokyny, 
může dojít k vážnému zranění, poškození zařízení nebo ztrátě záruky výrobce.

Pokyny a bezpečnostní aspekty
1. Ujistěte se, že montážní povrch podporuje přiložené vybavení.
2. Nepřekračujte doporučené zatížení
3. Určeno pro vnitřní použití
4. Používejte pouze příslušenství dodané s výrobkem
5. Jakékoli úpravy nebo úpravy produktu jsou zakázány
6. Výrobek obsahuje malé části, které mohou malé děti spolknout, návod k použití dle místa 
     určení

CZ

Necitiți, citiți cu exactitate, înțelegeți și respectați toate instrucțiunile poate duce la vătămări 
grave, deteriorarea echipamentului sau anularea garanției producătorului.

Instrucțiuni și aspecte de siguranță
1. Asigurați-vă că suprafața de montare suportă echipamentul inclus.
2. Nu depășiți sarcina recomandată
3. Proiectat pentru utilizare în interior
4. Utilizați numai accesoriile furnizate împreună cu produsul
5. Orice modificare sau modificare a produsului este interzisă
6. Produsul conține piese mici care pot fi înghițite de copii mici, instrucțiuni de utilizare 
     conform destinației

RO

Failure to read, thoroughly understand, and follow all instructions can result in serious 
personal injury, damage to equipment, or voiding of factory warranty.

INSTRUCTIONS OF SAFETY AND WARNINGS:
• Make sure that the mounting surface is strong enough to handle a mounted product and 
   equipment.
• DO NOT EXCEED THE MAXIMUM LISTED WEIGHT CAPACITY
• Always be sure to have someone assist you or a mechanical device to lift and position 
   heavy products safely.
• Tighten screws firmly, but do not over tighten. Over tightening can cause product 
   damage that greatly reduces the holding power.
• Keep a clear area and distance from moving parts when using the product.
• Use only as intended. Never stand, hang or climb on the product.
• This product is intended for indoor use only. 
• Any attempts to reconstruct the construction aren't allowed.
• This product may contain small items that could be a choking hazard if swallowed. Keep 
   children away unless the product is intended for their use and all instructions and 
   manuals are fully reviewed and understood by them.
• Check that the product is secure and safe to use at regular intervals (at least every three 
   months).

Should you ever have any questions or feel you require help please contact your place 
of purchase for assistance.

EN

Hereby, CENTRUMELEKTRONIKI.EU SP. Z O.O. declares that the radio equipment type TV Floor Stand ER-304 B is in 
compliance with Directive 2014/53/EU.

Hereby, CENTRUMELEKTRONIKI.EU SP. Z O.O. declares that the radio equipment type TV Floor Stand ER-304 B is in 
compliance with UK statutory requirement: Radio Equipment Regulations 2017.

Niniejszym CENTRUMELEKTRONIKI.EU SP. Z O.O. oświadcza, że urządzenie radiowe typu TV Floor Stand ER-304 B jest 
zgodne z dyrektywą 2014/53/UE.

Niniejszym CENTRUMELEKTRONIKI.EU SP. Z O.O. oświadcza, że urządzenie radiowe typu TV Stojak podłogowy ER-304 B 
jest zgodne z brytyjskim wymogiem ustawowym: Radio Equipment Regulations 2017.

Hiermit erklärt die CENTRUMELEKTRONIKI.EU SP. Z O.O. erklärt, dass die Funkanlage vom Typ TV Floor Stand ER-304 B 
der Richtlinie 2014/53/EU entspricht.

Hiermit erklärt die CENTRUMELEKTRONIKI.EU SP. Z O.O. erklärt hiermit, dass die Funkanlage vom Typ TV Floor Stand 
ER-304 B den gesetzlichen Anforderungen des Vereinigten Königreichs entspricht: Radio Equipment Regulations 2017.

EN

PL

DE

FR

ES

IT

Par la présente, CENTRUMELEKTRONIKI.EU SP. Z O.O. déclare que l'équipement radio de type Support de sol TV ER-304 B 
est conforme à la directive 2014/53/UE.

Par la présente, CENTRUMELEKTRONIKI.EU SP. Z O.O. déclare que l'équipement radio de type TV Floor Stand ER-304 B est 
conforme aux exigences légales du Royaume-Uni : Radio Equipment Regulations 2017.

Por la presente, CENTRUMELEKTRONIKI.EU SP. Z O.O. declara que el equipo de radio tipo TV Floor Stand ER-304 B cumple 
con la Directiva 2014/53/UE.

Por la presente, CENTRUMELEKTRONIKI.EU SP. Z O.O. declara que el equipo de radio tipo TV Soporte de suelo ER-304 B 
cumple con el requisito legal del Reino Unido: Reglamento de equipos de radio de 2017.

Con la presente, CENTRUMELEKTRONIKI.EU SP. Z O.O. dichiara che l'apparecchio radio tipo TV Floor Stand ER-304 B è 
conforme alla direttiva 2014/53/UE.

Con la presente, CENTRUMELEKTRONIKI.EU SP. Z O.O. dichiara che l'apparecchiatura radio tipo TV Floor Stand ER-304 B 
è conforme ai requisiti di legge del Regno Unito: Radio Equipment Regulations 2017.



NL

CZ

RO

Hierbij verklaart CENTRUMELEKTRONIKI.EU SP. Z O.O. dat de radioapparatuur van het type TV Vloerstandaard ER-304 B in 
overeenstemming is met Richtlijn 2014/53/EU.

Hierbij verklaart CENTRUMELEKTRONIKI.EU SP. Z O.O. dat de radioapparatuur van het type TV Vloerstandaard ER-304 B 
voldoet aan de wettelijke vereisten van het Verenigd Koninkrijk: Radio Equipment Regulations 2017.

Tímto CENTRUMELEKTRONIKI.EU SP. Z O.O. prohlašuje, že rádiové zařízení typu TV podlahový stojan ER-304 B je v 
souladu se směrnicí 2014/53/EU.

Tímto CENTRUMELEKTRONIKI.EU SP. Z O.O. prohlašuje, že rádiové zařízení typu TV podlahový stojan ER-304 B je v 
souladu se zákonným požadavkem Spojeného království: Radio Equipment Regulations 2017.

Prin prezenta, CENTRUMELEKTRONIKI.EU SP. Z O.O. declară că echipamentul radio de tip TV Floor Stand ER-304 B este în 
conformitate cu Directiva 2014/53/EU.

Prin prezenta, CENTRUMELEKTRONIKI.EU SP. Z O.O. declară că echipamentul radio de tip TV Floor Stand ER-304 B este în 
conformitate cu cerințele legale din Regatul Unit: Radio Equipment Regulations 2017.



Unlock   
Odblokowanie  
Freischalten  
Déverrouiller   
Desbloquear  
Sblocco
Ontgrendelen   
Odemknout   
Deblocare   

lock 
blokada
sperren
serrure
cierre
serratura
slot 
zámek
blocare      

EN
PL
DE
FR
ES
IT
NL
CZ
RO

Lock the brakes on the castersto avoid any sudden movements 
during installation. 
Zablokuj hamulce na kółkach, aby uniknąć nagłych ruchów 
podczas instalacji. 
Arretieren Sie die Bremsen der Lenkrollen, um plötzliche 
Bewegungen während der Montage zu vermeiden. 
Bloquer les freins des roulettes pour éviter tout mouvement 
brusque pendant l'installation. 
Bloquee los frenos de las ruedas para evitar movimientos 
bruscos durante la instalación. 
Bloccare i freni delle rotelle per evitare movimenti improvvisi 
durante l'installazione.
Vergrendel de remmen op de zwenkwielen om plotselinge 
bewegingen tijdens de installatie te voorkomen.  
Zablokujte brzdy na kolečkách, abyste zabránili náhlým 
pohybům během instalace. 
Blocați frânele de pe rotile pentru a evita orice mișcări bruște 
în timpul instalării. 

EN

PL

DE

FR

ES

IT

NL

CZ

RO

1

M-F ( x 4 )
Ø 15xØ 8x5

M-G ( x 4 )
Ø 15xØ 8x15

M-C ( x 4 )
M6x30

M-A ( x 4 )
M6x14

M-B ( x 4 )
M8x16

M-E ( x 4 )
D 8

M-D ( x 4 )
M8x35

A ( x 1) B ( x 1) C ( x 1) D ( x 1)

E ( x 1) F ( x 2) G ( x 2) H ( x 2) I ( x 2) J ( x 4 )
M6

K ( x 4 )
D 6

Metal W asher

L ( x 4 )
D 6

P lastic W asher

M ( x 3)
D 8

N ( x 2)
M5x10

O ( x 8)
M6x16

P ( x 3)
M8x20

Q ( x 1)
10 -12m m

R ( x 1)
4 m m

S ( x 1)
5m m

2

3 4

5 or

B

A

O

R

P M

S

D

N

R

O

K

L

J

Q

E
R

H I

H

I

C

UN L O C K

L O C K



7 2+

M-E M-E

M-F

M-G

M-B

M-A M-D

M-C
To o S ho rtTo o L o ng

6

8

F

G

R

Note: If the display does not stop at your desired position, adjust the two 
side screws alternately using the tools as shown.
Uwaga: Jeśli wyświetlacz nie zatrzyma się na żądanym pozycjI, wyreguluj 
naprzemiennie dwie boczne za pomocą narzędzi, jak pokazano.
Hinweis: Wenn die Anzeige nicht bei der gewünschten Position, stellen Sie 
die beiden seitlichen Schrauben abwechselnd ein,  Verwenden Sie die 
Werkzeuge wie gezeigt.
Remarque : Si l'affichage ne s'arrête pas à votre position, ajustez les deux 
vis latérales en alternance à l'aide des outils illustrés.
Nota: Si la pantalla no se detiene en el posición, ajuste los dos tornillos 
laterales alternativamente Usando las herramientas como se muestra.
Nota: se il display non si ferma al desiderato posizione, regolare le due viti 
laterali alternativamente utilizzando gli strumenti come mostrato.
Opmerking: Als het display niet stopt bij de door u gewenste positie, stel 
de twee schroeven aan de zijkant afwisselend af met behulp van de tools 
zoals afgebeeld.
Poznámka: Pokud se displej nezastaví na požadovaném místě polohu, 
střídavě seřizujte dva boční šrouby pomocí nástrojů, jak je znázorněno.
Notă: Dacă afișajul nu se oprește la poziție, reglați alternativ cele două 
șuruburi laterale folosind instrumentele așa cum se arată.

EN

PL

DE

FR

ES

IT

NL

CZ

RO


